Present Tense (stem-changing
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YO VOLAR

YO PEDIR

TU JUGAR

TU PEDIR

YO SERVIR

TU REPETIR

USTED PEDIR
USTED JUGAR
USTED SERVIR
USTEDES PEDIR
USTEDES SONAR
USTEDES SERVIR
USTED ALMORZAR
VOSOTROS JUGAR
NOSOTROS DORMIR
VOSOTROS SENTIR
VOSOTROS COSTAR
USTEDES ALMORZAR
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YO JUGAR

YO PODER

YO VOLVER

YO CONTAR

TU DORMIR

YO PREFERIR
USTED PODER
USTED MORIR
USTED VOLVER
USTEDES MEDIR
USTED RECORDAR
VOSOTROS MEDIR
USTEDES PERDER
USTED ENTENDER
VOSOTROS VOLVER
VOSOTROS PERDER
VOSOTROS SERVIR
USTEDES DEVOLVER
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YO MORIR

YO MEDIR

YO COSTAR

YO SONAR

TU PERDER

YO DEVOLVER
USTED MEDIR

YO RECORDAR
USTED DORMIR
USTED REFERIR
USTED PREFERIR
NOSOTROS PEDIR
VOSOTROS PEDIR
USTEDES DORMIR
VOSOTROS CONTAR
USTEDES REPETIR
VOSOTROS REPETIR
USTEDES ENTENDER



USTEDES PREFERIR
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